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16U/102/10 Set No. 1

Time /@94 : 2 Hours [a% Full Marks /gl : 300

Note/a1Z : (1) Attempt as many questions as you can. Each question carries 3 marks,

(152)

(2)

(3)

One mark will be deducted for each incorrect answer. Zern mark will he

awarded for each unattempted question.

A =i ® wa w0 W owWe #1) oTEE Te 3 Hh & f| wEw

ﬁmﬂimm HE FE I | TF FEE TE T IS I
|

If more than one alternative answers seem to be approximate to the

correct answer, choose the ciosest one.

;ﬁmﬁmﬂmﬁamuﬂm%ﬁﬁmﬁ,ﬁﬂmwm
i

This paper comprises of Five Sections. Sections | and 11 are compulsory
whereas only one Section out of I, IV and V is to be attempted.

mmmmﬂmtrwlqﬁuﬂﬁﬁm
vﬂﬁﬁﬂtwmmiﬂh Eﬂﬁﬁﬁﬁ;[ll,wﬂ
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Section—I
HrE—]

MENTAL AGILITY
[Compulsory for all)

Five friends A B, C, D and E are sitting together. In how many ways can they sit
so that B and C do not sit together?

fafABCD M EmTmRI R s mae T o & fF
B ¥ CUEHY T AT

1) &4 (2) 76 (3) 68 [4) 72

There are deer and peacocks in a zoo. By counting heads they are 80, The
number of their legs are 200, How many peacocks are there?

v fafzarn @ &% fem 2l an &) ffl F@ W 9@ "= 80 #) % 40 A
#Em 200 ) g fem W €7

11} 20 {2) 30 |3) 50 [4) &0

Find the number which when added to itself 13 times, gives 112

i GE ) e |13 4R e W, S 112 @ W 8, @ den W
1) 7 2) 8 3) 9 [4) 11

If GIVE is coded as 5137 and BAT is coded as 024, then GATE is coded as
I cIvE # i 5137 ® i BAT 1 Fifé 924 ?, A GATE it #ifgn gnft

Which is the next number in the following series?
Brefe swen # @ el wem wA-d #Y
7,28, 49, 70, 91, 112, eeeee

(1} 135 (2) 134 (3 193 14 130



(153)

Find out the missing number in the following figure :
Frefaftan T § S-= @en gz of &7

A AR AR
N7

(1) 52 (2) 36 (3) 117 (4] Bl

If the numbers from 5 to 85 which are exactly divisible by 5 are arranged in
descending order, which would come at the eleventh place from the bottom?

(1) 45 2y 50
[3) 60 (4) None of the above

58 85 B 3 wensd W Sk 5 A pla: v A, B T B sEn frw
W, B %8 AN e em o g

(1) 45 (2) S0
(3) 60 (4) 3WF § 4 #E 3

In & row of boys, if Amit who is 10th from the left and Bini who is 9th from the

;?E::rﬂiaiiei::?r positions, Amit becomes 15th from left. How many boys
e o i A AR afe @ R a8 169 & SRR B 3 om

o wE W oAw F w9 E A o 9 @ 1sat
i & et wem §7 B i

11) 23 (@) 27 (3) 28 @ a1

(P.T.0,)
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10.

11.

12,

(152)

How many triangles are contained in the figure given below?
Frefafm ansf 4 fem B fid & 2

(1} 8 (2) 10 (3) 12 (4) 14

A and B are brothers, C and D are sisters. A's son is D's brother. How is B
tehdled w CPF

(1) Father (2] Brother (3) Grandfather (4] Uncle

oo A 3R B W-3@ % W ¥ W C 3R D g A W F aq A} ASH

D ® Wi &, ot B st c = wEg wg R 7
(1) faam (2) Wrs (3) & (4) =T

Two persons A and B started from two different places towards ecach other. If the
ratio of their speeds is 4:7, then what is the ratio of distance covered by A and
B respectively till the point of meeting?

ﬁmﬂmﬂéﬁﬁﬁmﬁﬂqﬁ@iﬁﬁaﬁ!aﬁﬁilﬁﬁsﬁﬂﬁﬁm
aqg'mam?%,ﬁ‘raﬁiﬁqm-@i#iﬁaﬁﬂimﬁmﬁmﬂﬂ@ﬂﬁ
ST

(1} 1:2 (2) 3:4 (3) 4:7 (4 5:3

A train, which is 70U metres long, is running at the speed of 72 kilometres per
hour Irf it crosses a tunnel in one minute, then the length of the tunnel is

(1} 70 metres (2) 600 metres (3} 530 metres (4} 500 metres
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14,

15.

16.

(152)

wF gl ot f 700 der el 2, 72 Frerdte ofe v 6 R @ = ol &) s
T T GO (W) # ww B § on w6 2, @ g 6 e wn g

(1) 70 12) 600 (3) 550 e (4) 500 Hex
rf§=;—’-;. then 22 2%C i be
g
qﬁ§=%=$ﬁﬁ a+?+cm
(1) 7 (2) 2 13) 4 4 4

How many combinations of two-digit numbers having 8 can be made from the
following numbers?

Rt sl & wen 5 WA g, @ wew AW R T2 T
852176
(1) 9 (2) 10 (3) 11 (4) 12

Arrange the given words in the sequence in which they oceur
and then choose the correct sequence ;

N R s & vl 5 i ewn & S e
W wm W s i s et

(a) Fledge, (b) Fleecy, [c] Flesh, (d) Fleece, (e} Fleet

in the dj:ﬁunai].r

(1) {a), (b), (<), (d), (e) (2) fa), (d), (b), (e), lc)
13) fa), (o), (d); (), (b) (4] (a), (d), (e}, (b), (c)
Inllt :f f:::: Rs z-m.%ﬁmmm:nﬁcﬁi;mﬂtz Tﬂ E::f;" Rs 500
Iﬁm-m'ﬁﬂﬁﬂﬂhﬂﬁﬂmﬁiﬂﬁﬂmg_mﬁ%ﬂ :
T w W R Eme VR
(1) 1% (2) 0-50% (3) 250% (4] 0250
5
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The number 12345674 is divisible by

e 12345674 fam | femm w27
(1) 3 (2) 15 (3} 9 (4) 11

Which Indian Air-Base was attacked by Terrorists during the year, 201672

(1) Agra (2) Kalaikunda (3] Pathankot (4) Gurudaspur
T 2016 ¥ 2F, WA 1 I @ gE-IW W AWwANed g wHen o oa?
(1) smwm (2) TR (3) TEEERIZ (4) TEEEY

Which of the following four crops listed below, is not a pulse crop?
(1) Moong (2) Black gram  (3) Paddy (4] Peas
ﬁﬂﬁhﬂmmﬁﬁﬁ#-mmmﬁﬁmmﬂ?

(1) 1 (2) == {3) WA (4) o

Which one of the following crops is not a Rabi crop?

(1) Mustard (2) Wheat (3) Paddy (4] Peas

et § 8 B-H) wuw wh w0

(1) ¥ @ 7 3) W 4)

If x= -3, then x* —x" - x will be equal to

®xmm-3E X'~y _x W WA T

() 18 (2) -27 (3 -33 4 54
3
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There is a number greater than 1 which when divided by 4, 5 and 6 leaves

remainder of 3 in each case. Find the largest number smaller than 1000 which
satisfies the above condition.

T EEN 1 At Y e wm 4,5 e d Rnfe f w2, @ owd @ 3w
aval Bl wER ¥ W 1000 ¥ 1A 3 FN-W Tem 2, A 5 @ 5w W O 2

(1) 957 (2] 993 (3] 960 [4) 963

Colorless, odourless and non-corrosive air-pollutant is

hﬁﬂﬁ#,hmw%mmﬁeﬁﬂﬁmﬁ,m-ﬂrﬁ-mﬁ
o #?

(1) 80, (2] co i3 CO, 4] O,

Ajay ranked sixteenth from the top and twenty-ninth from the bottom among
those who passed an examination. Six boys did Tot Perticipate in the
competition and five failed in it. How many boys were there in the class?

o o v Il F de e A el o Y A s
e e & om R o ot e R T g

e w oo
(1] 40 (2] 44 [3) 50 {41 55
If the seventh day of a month isthm:day:mrliurﬂmnF :
be on the nineteenth day of the month? ey, what day will it

(1} Sunday (2) Monday (3} W'Eﬂﬂﬂﬂda}" (4) Frids
Ly

1R & W b e R ¥ i
&8 W fm? e e

(1) TeEm (2) Bz

R R ey

BT

(P10,



26.

27.

29.

Section—I1
HUE—]I

CHEMISTRY
(Compulsory for all)

The intermediate involved in S, 1 reaction is

{1} carbanion (2) rudical {3) carbene (4) carbocation
S, 1 wfufem § wfdfea s= R
(1) FRTA 2) Yewm (3) F&H (4) ATz

Three classes of alcohols may be distinguished by

(1) oxidation (2) reduction (3) pyrolysts (4] cleavage
wEEd § A i # mim B e e

(1) sfwEIA 3R (2) Tewe g (3) wsiferfeem g (4) w=IES g

The carbolic acid is

FrETEE ?
{1} C,H;COOH {2) HCOOH (3) CH,COOH {4 C,H;OH
[ =]

Th mechanism of dehydration of an alcohol to give an alkene mvolves
e

formation of

(1) carbanions (2) carbenes (3) free radicals [4) carbonium ions

e s T ¥ BT A Pl e X B d 3 e v

afifm 27
@ R REE () wEfEm s



30. Which of the following is an example of a condensation polymer?

(1) Nylon-610 (4) High density polyethylene
(3) Orlon (4) Teflon
Fefiin & @ #9-a @ tow wwem = e 37
(1) TEE-610 (2) 3= wI= wifimfafa
(3) e (4) ¥
31. Primary alcohols are oxidized to aldehydes by
(1) KMnoO, (2) K,Cr,0,
(31 RyCulLi (4) pyridinium chlorochromate
Srfei ey R gu stedem @ weeeet § ofatis @ 8
(1) KMnO, gm (2) K,Cr,0, gu
[3) R,CuLi g (4) WffeFm e am
32. A strong base can abstract an a-hydrogens from
(1} alkene (2] ketone (3] alkane (4) amine

U I PG 6N o-TRENA & AR 2
(1) e & (2) e 3 (3] A @ (4) i 3

33. The reaction among a primary amine, chloroform and few drops of alcoholic
KOH is known as

(1) Carbylamine reaction {2) Mendius reaction

(3) Perkin reaction (4} Reimer-Tiemann reaction
T S O, S w39 ¥ vk kon ﬁﬂﬁhqﬂmm?
(1) Fifdemfls sfufea (2) Bafkm sl
(3) WRFEA e (4) T iy
(152) 9
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34. Benzene diazonium chloride reacts with hypophosphorus acid o form

{1} eniline (2) benzene [3) phenol [4) benzaldehyde
1 EEE # W AR TR s enawEsE ae & oy sl s @
1) THEH (2) &= (3) ST (4) F=feeers

35. The number of o- and p-particles emitted in the nuclear reaction
00 Th*® = L Bi* s

(1) 4 and If (2) 8 and 1p 13) 3a and T8 (4) 4 and 7B
iefm sfifen (ffen fomm) o Th® o _Bi*? ¥ & a- 3 AW JHE

Aul

(1) Aa T3 1p (2) 8« W Ip (3) 3a 7P [4) 4o T P

36. For the reaction, 2NO, @)+ $0,( @) NyOci g). if the equilibrium constant 15
K ,. then the equilibrium constant for the reaction, 2N,0.(g) & N;0, +0.(g)
would be

TF WffEE 2NOL(g)+ 10,(g) e N,0.(g) § 3R Wz fEmw K, B, ™
AfED 2N,04(g) © Ny, + 0,(g) # aa figms = gm?

2 1

(1) K3 (2) x? 3] X2 ) 2K,

37. The pH of a 01 molar solution of the acid HQ 1s 3. The value of the lonization
constant, K, of the acid is

U wE HQ F 0-1 W fam@ (molar solution) ¥ pH 4 2 T o W
s g (lonisation constant) K, ¥ TR ¥ B

(1) 3x10™ (2) 1x107° (3) 1x107° (4) 1x10°7

(152) 1
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A mixture of ethyl alcohol and propyl alcohol has a vapor pressure of 290 mm at
300 K. The vapor pressure of propyl aleshol is 200 mm. If the mole fraction of
ethyl alcohel is 0+6, its vapor pressure (in mm) at the same temperature will be

TG GHiea U WA Urkied % US fiwm 31 90 7 300 K O 290 mm 3
WS TS W 9 T 200 mm R 9 e wemwe 6 9| 3 (mole
fraction) 0-6 B, ¥ 39+ 99 W (in mm) I 79 W T BWI

(1) 350 (2) 300 (3] 700 (4) 3RO

The vapor pressure of water at 20 °C is 17-5 mm Hg, 11 18 g ghucose (Cghl,,0,) s

added to 1782 g of water at the same temperature, the vapor pressure (mm Hg)
af the resulting solution will be

20 °C THRA W 9Hl # AW @ 17-5 mm Hg 1 I HHER (CH,,0,) F 18 ¢
UE W I AR W 1782 g U § fremn s, @ ofvmeren g R @
9 T4 (mm Hg) 0 g7

(1) 17675 {2) 17-325 (3) 16500 (4) 15750

The van't Hoff factor of BaCl, at 001 M concentration is 1-98. The percentage of
dissociation of BaCl, at this concentration is

001 M FFgm & Bacl, # T ®% S 198 %1 W ¥egm § pacy, w
v faaz &m

(1) 49 (2) 69 (3) 89 (4) 98

The highest electrical conductivity of the follotin
(1} 01 M diflucroacetic acid (2) 01 M fluoroacet;c acid
(3} O-1 M chloroacetic acid (4] 01 M acetic acid
Frifefan wefia feem 3§ @ i fags s e LK

(1) 0-1 M TERLRRT s (2 01 M Fehids e
(3 01 M TR A (4) 01 M efifem s

B Aqueous solutions is of

11
(P.T.0,



432.

43.

44,

45.

(152)

What is the time (in sec) required for depositing all the silver present in 125 ml
of 1 M AgNO, solution by passing a current of 24125 A ? (1 F = 96500 C)

I M AgNO, & % 125 ml % s digg of =i % e« ¥ 5
w (d%z ) w6 24125 A faga vafes w3 g7 (1 F = 96500 C)

(1) 10 (2) 50 (3) 100 (4) 1000

Solubility of the BaS0,, $rS0,, CaS0, and MgS0, in water increases in the
order given below :

RASO,, Sre0,, CasSn, ™ Mg20, £ == § fmam A2 B #u & = 2 -
(1) BaSO, <S80, < CaS0, < MgSO,
(2) Sr80, < Bag0, < Ca80, < MgSO,
(3] CaS0, < MgS0, < SrS30, < Bas0,

(4) MgSO, < Ca80, < BaS0O, < Sr80,

The dead burnt plaster is

T W
(1) Ca80,-1H,0 2) Cas0,-2H,0
(3) CaS0, [4) CaS0, -H,0

Lassaigne's lest is for
(1) nitrogen {2) cadmium (3) chromium (4} zinc
Syir wheer Fr H B fra form @7

(1) T (2) FEfiem (3) FE 4

12



46. Which of the following is soluble in ethanol?
f1 3 4 o g A g

{1} BeCl, (2) CaCl, (3) BaCl, (4) s:Cl,

47. Formula of Calpon is

¥ W oga @
(1) NagPs0yq (2) Na,PO, (3) Na,PO, (4) Na.HPO,
48. Ore of iron is
{1} magnetite {2) sphalerite (3] malachite 4] kaolinite
HAE T I R
(1) e (2) e (3) A=z (4) Fsitferimg
9. Which of the following has angular shape? '
= 3} # w2
(1) NyO, (2) N,0, (3) N0, 14) No,
50. Hmnzrina.naﬂuynfﬂmfollowing
|1} Copper and Zinc

|3) Iron and Chromium

wa (ats) e a My g o

(1) afan o5 wm (2) ot w fiy
(3) ¥ o it (4) wftE @ Hrfig

(2) Copper and Tin
14} Iron and Manganes,

(152) o

P.T.0,)
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53.

54.
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Section—III
JiE—II
BOTANY and ZOOLOGY

|Botany)
Stemn and root tips die due to the deficiency of

(1) calcium (2] nitrogen (3) sulphur

A W2 F o P fewd @ ga W S R0

(1) &fFmm (2) AT (3] HoH

The Second International Rice Congress was held in
(1) Bangkok (2) Manila (3] New Delhi

fotra srig wEe HiE A dew g d

gdesd @ wEmd @)W
Edible part of onion is
(1) bulb [2) corm (3) rhizome
e & FYA-E T G 27
(1) &= 2) (3) T
One internode long phylloclade is
(1) culm (2) cladode (3] bladder
= -su-{{i’FE = TireaeTg A @
(1) A (2) FeE (3) ®i=

14

(4) phosphorus

(4) FIEHE

(4) Kualalumpur

[4|ﬁﬁrqﬂj,tﬁ

|4) stem cutting

(4) T 1 W

4} pubnnus

(4) TEtE



55. The acid rain destroys vegetation because it contains

(1) ozone {(2) sulphuric acid

(3) citric acid (4) carbon monoxide

el anf Fes W o w3, i A 2

(1) = Q) T E T (3) Ri® s (4) s A
56. The Central Tobacco Research Institute is located at

(1) Kolkata (2] Vijayawada (3) Hyderabad (4) Rejmundary

¥R T s deam el b

(1) wrewmn (2) fermms (3) ¥amarg (4) et

§7. Yellow Revolution is most suitahle for

(1) descrt areas (2) less irfigated areag
(3] highly irrigated areas (4] hilly arcas
ficft #1 7 Iwgw 3
(1) ogé & % (2) 9 fé=m o 6y 3
(3) =) o At (4) wErdh & 3
58. Black soil is best sujted for
(1) eotton (2) coffee (3) rice (4 teq
Tl g8 I R
(1) ¥ & (2) Fif o (3) wmEw § rﬂ?ﬁﬁ
(152) 15
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59. lodine 13 obtained from

{1} Laminaria (2] Polysiphonia (3] Chara (4} Spirogyra

smtda am e = @

(1) @ 4 (2) wicrmsHa ® (3) Fw @ (4} FEETTT ®
60. Which vegetable oil is suitable for heart patients?

(1) Bunflower ol (2] Groundnut oil

(3] Mustard oil (4] Soyabean oil

Rea-Ufgl % o avgm el §E @
() wd W (2) qUeA AW (3) W AW (4) BraER o
61. Polyploidy can be produced artificially by

(1) colchicine (2) interbreeding (3) line breeding (4] self-pollination

i v @ gy fef f o R

(1) FreriE g (2) swEfEm Tm
(3) Yhaa il (4) F-TEE ZR
62. An example for semi-dwarf variety of wheat is
(1) IR-8 (2) Sonalika (3) Triticum (4) Saccharum
i A g TR W ST}
4
(1) IR-8 (2) sl (3 Rie#A (4) WFwn
Hgsic it OF classification is
sl _
6 5 (2) family (3) species (4) order
18
(1) e
16

(152)



66.

67.
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i #1 aman e @
(1) sfi9g (2) Sfeh (3) wf= (4) st

Triticale is obtained by crossing wheat with

{1) oat (2) barley (3] maize (4) rye
ﬂi#mhﬂmm&&amﬁmmt?
(1) 3 (2) (3) (4) w§

Kranti, Pusa Agarni and Pusa Bold are improved varieties of
(1} Urad bean (2) Sunflower (3] Chick pea (4] Mustard

F, g amh ot g At ey I e g7
(1) 9 ¥m (2) Hre (3) wex [4) T

Which one is not a source of carbohydrate?

(1) Rice (2) Millet (3) Sorghum 4) Gram
e & 8 ar weege w0 s 20

(1) = (2) Ptz (3) T (4) w7
The method of correcting the defective genes is called

(1) genetic engineering (2) gene therapy

(3} somatic hybridisation {4) protoplast fusion

gl 9 F: 3w oW owm g
o i '
(1) 3 AR (2) (3) 2ew wwm m%w

17
.10,



68.

69.

70.

T1.

T2.

Hybrid vigour can be maintained for long periods by
|1} clonal selection (2] cross-pollination

(3] mutation (4) sell-fertilization
Had wWid @l ue & o uhakda B s @
(1] wEA A gu (2) Rowewm g (3) FfEE g (4 @a-fE T

Genetic variability cannot be created by

(1) binary fission (2) mutation

{3) clonal selection (4] hybridisation

At fam fredn g @t @7

(1) fg-wea (2) IeRER (3) FEA R (4) TH

Jaya and Ratna developed by Green Revolution in India are the varicties of
{1y maire (2) paddy {3) wheat (4) bajra

wra § wm Fia & oo fem s oe ‘o’ et et 27

(1) T (2) W (3) T (4) ==

Pieces of plant used n tissue culture is called

(1) explant {2) somaclone (3] inoculant (4] clone
ﬁﬂﬂaﬁmﬂﬁmﬁ'ﬂﬂ?ilﬁ'ﬁﬁmmi

(11 LR 2] A 3) w2 ) T
what 18 the source of first induced mutation?

(1) Gammatsy (2} UV-irradiation

(4] Cosmic rays

18
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75.
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vaq S Faftada @ w20

(1) T (2) uv-fim (3} X-Frm (4) Fifem e
Monosomy and trisomy can be represented as -

A T R # i s 2

(1) 2n+1,2n+3 (2) 2n-12n-2

(3) 2n,2n +1 (4) 2n-1,2n+2

Which one of the following has maximum diversity in India?

(1) Mango 2} Wheat (3) Teca (4] Teak
fm i & frod ama & ofteeen Rifter o ot 27
(1) sm (2) M (3) = (4) wmfy

Somaclonal variation appears in plants
(1) growing in polluted soil or water
{2} exposed to Gamma-rays

(3) raised in tissue culture

(4] asexual reproduction

mﬁﬂqﬁﬁﬁmﬁiﬁﬁﬁmﬁmﬂ?ﬁg?

Hlﬂfﬁﬁ&ﬁmﬁﬁﬁﬂiﬁmﬁﬁ
(2) Ton-fFm % g

(3) o+ dada A 3y
(4) il 1

19



{Zoology)

T6. “Omnis cellula e cellula® (All cell from cell). The statement was given by

77.

78.

(1} Robert Brown (2) Rudolf Virchow
(3) M. J. Schleiden (4] Theodor Schwann

“dafrE Aggem § AT {Hﬁﬂ%ﬁmwﬁ#ﬁaﬂiﬁﬁmﬁﬁﬁm%ﬁw
A &4 2)) W % e fem @y

(1) W& @ (2) == fawa (3) e Fo TelEA (4) frrsm @R

Inner membrane of mitochondria is usually highly conveluted forming series of
folding known as

(1) Cristae (2} Grana (3) Lamelle (4) Thylokoids

wgrErga i AR mﬁwgﬁmﬂiﬁm%mﬁﬁ?ﬁ%,ﬂﬁlm
;

(1) fel 2) T 3) @) TS
Which of the following represents the correct order in Prophase 1 Meosis
division?
(1) Zygotene, Diplotene, Pachytene, Leplotene, Diakinesis
2) Diakinesis, Diplotene, Leptotene, Pachytene, Zygotene
(3] Leptotene, Zygotene, Pachytene, Diplotenc, Diakinesis
4 Pachytent, Leptotene, ZYgOlENe, Diplotene, Diakinesis
ﬂ@wmmﬁmﬁﬁ F4-m 9 w6 vaRieE = om T
B e SR
g, e, AT, e, e

O e, ¥, i, e

p & e, Ein, fReifer, ST

o
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A, G, C and T are nitrogenous bases of DNA. The pairing is

DNA ¥ Mo & A G, CwW T# w7 %

(1} A-G, C-T (2) A-T, G-C (3} A-C, G-T (4) A-T, G-T
Non-protein part of an enzyme is known as

(1} coenzyme (2] apoenzyme  (3) holoenzyme  (4) aming acid
TN & A-TAR 9 W s s ?

(1) Fu=mn (2) Tt (B) BT (4wl s

The common phasc in aerobic and anaerobjc respiration is

(1) glycolysis (2} TCA cycle
(3) oxidative phosphorylation (4) Krebs’ cycle
AR A wd e § e o 2

(1) TrERiemEm (2) TCA =%

(3) stwfife g (4) #=0 =%

Which State has the largest acreage and highest productjy,, of Sugarcane

country? n

The term ‘Evergreen Revolution’ hag heen Eiven by
{1} Dr. A. 8. Faroda

{3) Dr. V. L. Chopra (

F.T0,)



| wife T fmE g fm m #7

11y =fe To THe W (2) Efo WHo UHe TEMHIH
(3) 3ie o wHe Hm (@) Tfo HRe We WIF
84. Which one of the following is not a steroid hormone?
(1) Aldosterone (2] Androgen (3) Estrogen (4) Thyroxine
e # & FR-m wiE g T T
(1) TR (2) TR (3) TR (4) e

82 Which of the fallowing food-chain is correct?

(1) Grasses - Chameleon — Insect - Birds
(2) Fallen leaves —+ Bacteria — Insect — Birds

(3) Grasscs = Fox — Rabbit
(4) Phytoplankton — Zooplankton -» Fish

ﬁqﬁaﬁgﬁﬁﬁﬂhmvmmﬂﬂm%?
{1]m4Mﬁ4m4m
mﬁmmﬂqahwg-—}ﬂz—hqﬁl
mﬁm-—}ﬁﬂ#—im
HJW——}W—}W

exander Fleming extracted Penicillin from
(2) Penicillium notatum

4) Penicilliam griseofuluin

g6, Sir Al _
(1) Bacillus b
(3) Penicilium ChYSOSTHER

22
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W SR W 3 RRRE e § @ R Rl e

(1) *fem i (2) R e

(3] e FEEtE (4) IfREm mfieatia
87. First manmade cereal plant is

(1) Triticale (2) Hordeum wulgare

(3) Secale cereale (4) Oryza sativa

wHa-Fffa o s e 20

(1) i (2) O T (3) S = ) shown e
88. Indian Agricultural Research Institute is at

(1] Lucknow (2) New Delhi  (3) Mumbai

WA R frwe it weaw e fam 20

(1) wes (2) = fagh (3) gt 4) Y

89. Toxic substances like Aflatoxin,

14) Hyderabad

Amatoxin and Ergot alkalojg,
() Mycotoxin  (2) Phycotoxin (3 Bryotoxin 4

are calleg
(1) weRefafY (2] Wy B AR )

90. Minisatellites are also known o

Rifiome = amn wmm A
(1) VNTRs (2 RFLPs (4) R&Pﬂa

1153)



91. Whi '
hich gene is used for development of salt tolerant crops?
(1) Cry-I gene |
(2) Genes involved in protein (LEA gene| biosynthesis
(3) heat shock protein
(4} Both (2) and (3]
amm*ﬁm%ﬁiﬁﬁmsﬂwmwﬁ!ﬂﬁmm%?

(1) Cry-1 ¥
2) oty v & e i T (LEA )
(3) fe &% S
@) [2) 3 (3) A
92, Commercial propagation (vegetative ' '
propagation) of papaya 18 done through
(1) budding {2) layering (3) seeds (4] cutting
i # s yad (e weda) e R
mﬁﬂ“ﬁ (2) dfin & (3) 9= @ (4) wen ¥
g3, Powdery ildew of pea is caused by
) it (2) fungus (3) bacteria (4) Protozoa
I & F R F 04 d
Bl [2) FIH (3) s (4] et
pn ided! gyt * ';Tﬁnn for young plantation is
ctem (2) furrow system (3)
gl ) flood srstem :
1) e / (4) strip system

24
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Ferim ¥ o el feerd W oo 2

(1) I%T (Fardt) o= (2) w3

(3) =AM = (4) &M (v8h) 7=

Sweetest sugar in fruit is

(1) sucrose (2) fructose (3) ghucose (4) galactose
W i wy

(1) g 2) wwE (3) (4) M

Which of the following transgenic crops has maximum cultivated area in the
workd?

(1) Soyabean (2) Rice (3) Cotton (4) Maize
fya & feeafeem & @ o gt e 1 st ER RGBT
(1) wrafam (2] wmEw T (4] wem
Pollen basket oceurs in heneybec on
(1) prothoracic leg 2] mesothoracic leg
3] metathoracic leg (4) union of thoraxy and abdomen,
TR § W e T 4 -
(1) Sramifir 47 o (2) frataitfies 4y oy
(3) Tt 4 m B 3 3k diwm F iy o
Which of the following phylum /phyla is/are exclusive m,. . 5
(1) Porifera (2) Arthropodg
25
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frfefga § 4 $-m d9 wopf w9 | w9 27
(1) wrfrED (2) g (3) TEEERE  (4) WS

89, Which of the following is not found in vertebrate?
(1) Body scales (2) Cnidoblast

(3) Gill opening {4) Bilateral symmetry
ﬁﬂﬁ!ﬁﬂﬁi’:ﬂq:ﬁiaﬁﬂﬁmm%?

(1) vt @ T (2) Fremere
(3) fiet R (4) EeieTE wwiEf

100. Which of the following correctly matched regarding an institute and its location?
(1) National Institute of Virology—Pune

(2) Central Drug Research Institute—Kasaul

3] National Insttate of Nutrition—Mumbai

(4) National Institute of Communicable Diseases—Lucknow

ﬁmﬁ‘mﬁﬂﬂa-mﬁwnw#m# A W wE wE W gaem 8

(152)



Section—IV
grE—-Iv
AGRICULTURE
101. Maximum area under drip irrigation is in
(1) Uttar Pradesh (2) Maharashtra
(3) Gujarat (4) Punjab
feu fomnd % i aftmm & awn 43 @
() smwm d (2) e § (3) o (4) o= H

102. Most poisonous pollutant in water is

(1) arsenic (2) propane
(3] methyl isocyanate (4) carbaryl
W § v Feden wove f

(1) sEfE (2) dr=

(3) frarde smgErERAR (4) wmtie

103. NABARD was established in the year
TrE fem o wnfie gan @7

(1) 1982 (2) 1983 (3) 1984 (4) 1985
104. First All India Coordinated Research Project was initiated in the crop
(1) maize (2) wheat (3) paddy (4} sorghum

(152) 27 (P.T.0.)
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114,

115.

116.

117.

(152)

The C:N ratio of humus is

W F C:N TR e @

1) 10:1 (2) 12:1 (3) 15:1 (4] 20:1
Nitrogen content in urea is
gfem # T § o gl 2
(1) 42% [2) 46% (3) 48% (4) 50%
Highest use of potassic fertilizer is in the State of
{1} Maharashtra (2) Andhra Pradesh
(3] Tamil Nadu (4] Punjab
fem e # wathE dem s @ wm g Rl
(1) WERTE (2) e (3) AR (4) T
Richest source of vitamin C is
(1) Barbados cherry (2) Citrus
{3) Tomato (4) Melon
faofim C maifas femd g 27
(1) IaEE =@ (2) A (3) T (4) &R
Highest onion production 1s in the State of
(1) Uttar Pradesh (2) Maharashtra
{3) Punjab (4) Madhya Pradesh
30



118,

119.

120.

121.

(152)

WA % I watew B e § g 27

(1) 3 W (2) wenTy (3) o (4) W
Edibl: part of fruits of papaya is

(1) mesocarp [2) pericarp {3) endosperm (4} placenta
it & e @ @E-wm o 47

(1) it (2) T (3) v (4)
Plant family of mango is

(1) Anacardiaceae (2] Malvaceae

(3] Solanaceae (4) Pedaliaceae

3 fam Ty oiER § amE 37

(1) e (2] e (3) wrerh @) e
The tree banding is useful for the control of which pest?

(1} Mango mealy bug (2) Chilo partellug

(3) Thrips (4) Whitefly

¢ AT R A F o wg T 27

(1) % e () W Wew  (3) @) Trevem

The main characteristic feature of an insect is

(1) three pairs of legs (2) Malpighian tUbng)eg

(3) digestive system (4] antenng

J1

(P.T.0,)



o Fiz f g fafie fewe ww b
A, @) A et
o (4) T

122. The headquarters of “Directorate of Plant Protection, Quarantine and Storage” is
located at

(1) Faridabad (2 Hyderabad  (3) Ghaziabad  (4) Pune
Ul WI2EYH, WA T WRE femeR” w1 qeed #i e 87

(1) HIZTETR (2) AT (3) U G A (4) T'n

123. Vector of cotton leal curl virus 18

(1) Thrips (2) Whitefly (3) Beetles (4) Mites
U o F aEE W R
(1) fa= (2) WIEEFETS (3) Hged (4) @mE=zA

124. Egg parasitoid jor biological control is
(1) Trichogramma Spp (2) Cotesia spp

(3) Bracon hebetor (4) Campoletis chlornideae

s o ¥ I TR
() g #A
(3) @@

(2) Frfe e
(@) FIfER FEE

32
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125. Chewing and lapping type of mouth parts is found in

(1) Honeybee (2) Thrips (3) Housefly (4) Aphids

Fart ot = aTn q@ v e o w20

(1) weert 2) frm (3) T (4) TfeEm
126. Father of Modern Plant Pathology is

(1} Louis Pasteur {2) Anton de Berry

(3) Van Schmeling (4) Rudolf von

MyfE oy I fam F e §
(1) 88 T (2) WA 2 W (3) 3@ Sfdm (4) wEtv% am
127. Bordeaux mixture was developed by

(1) Millardet (2) Fleming {3) Scholz [4) Todd
Frigtaw feor ek g BEfam e T @y
(1) Frende {2) weHfem (3) Tt 4)

128. Bengal famine occurs due to

(1) brown spot of rice I2) Helminthosporium Oryzae

{3) phytophthora (#] Both (1) and (z)
TR H aEE W e O

(L) W= W FTEA e ' (2) ﬂm}"ﬂﬁw Hrogs
(3) ErEArE

(4 (1) @& (2) 3
(152) 33
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129. Causal organism of citrus canker is

{1} bacteria (2) fungi (3) actinomycetes (4] virus
figm %= = wnw 2
(1) Sy (2) =% (3) AR (4) femy
130. The disease caused by Puccinia graminis tritici in wheat is
(1) black rust (2) stem rust
(3] yellow rust (4) Both (1) and (2)
vl Mifm el i 3 fem i = I 87
(1) & W (2) BW W (3) = = (4) (1) @ (2)

131. Fusarium wilt occurs due to a fungal organism which is
11} soil-borne (2) air-borne
(3) water-borne (4) None of the above

Wﬁﬁtﬁmaﬁa%mﬁmé?

(1) LRIk (2) AR
) T (4) I9 # A Hg T

132 Which dnll machine is suilable for high residue retention condition?
(1) Happy Turbo Seed<r (2) Zero Till
(3) Straw Management System (4) Raised Bed Planter

182) 34



133.

134.

135,

(152)

et ey fdam g A9 fam i avge dm 27
(1) ¥t == A 2) 1= =

(3) =T v a9 (4) =2 3= ==

Which instrument deals with primary and secondary tillage?

(1) Mould board plough (2) Desi plough
(3) Rotavator (4) Disc harrow
mefi v fifts R ¥y Sv-m o o w27
(1) giez @1d w1= (2) 2 =m
(3) Wi (4) foem B0

Which type of tyre should be used to avoid compaction in fia} o
(1) Bladder tyre (¢) Narrow tyre
3) Regular tyre (4) High dotted tyre

mﬂmﬁ%ﬁﬁmmmmmﬁﬁmmg?

() =z o) dgfm e (3) Y o ) w0 2y oy

Which type of tynes is used in zerp 1o
(1) Inverted T opener (2] L type

35
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TR e 7 fem www & g wim @ oW 2

(1) 3¢ & sidm 2) T T

3y T

&) s (@) T # @ B

136. Fo
r accurate seed rate, which type of metering device is suitahble?

(1) Cup type (2) Inclined plate type
(3} Fluted roller (4) None of the above
e dw @ ¥ FA-E fefln feamm I 27
|1) =9 TH (2) gEATEE wiE 2
(3) WS UK (@) v & @ F T
137. Who digcovered the nucleus?
(1} R. Brown (2) T Boveri (3) Fontana (4) Palade
ECRRD £ @ fem & A7
(1) #me T (2) Be wrEh (3) HwEEn (4) TR

138, Which one is the right order of mitotic phases?
(1) Prophase > Metaphase > Anaphase = Telophase
(2) Telophase > Metaphase > Anaphase > Prophase

@) aAnaphast ? Metaphase > Prophase > Telophase
4) prophase > Anaphase > Metaphast » Telophase

(152 0
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140,

141.

(152)

Tifew a9 W A FW own @7

(1) W6 > A2 > T > At
(2) EEET > W > T > Wi
(3) THA > Hzrw > Wik > Feiew
[4) TH > TS > Mo > Ak

Nullisomic refers to

FefiE wefitn w4

(1) 2n-1 (2) 2n-1-1 (3) 2n-2 (4 2n+2

Duplicate gene action refers ta

gtk A7 Tw wafie e i

(1) 9:3:3:1 (2).15:1 (3) 9:7 (4) 3.3

Kraniz type leaf anatomy is found in
(1) C, (2) €,

(3) cAM (4] None of the above

ﬁqﬁ#ﬁmﬁhmmmﬁmh
(1) C, {2) C4

(3) #m m]miﬁaﬁqﬂ

a7
10,



142,

143,

144,

145.

The plant in which water use efficiency is higher is

(1) CAM [2) C4

(3) C; (4} All of the above
o Nl § e IwEm aa st g 87

(1) ¥ (2) €, @) C, @) S

Day neutral plant is

(1) maize (2) buckwheat

(3] rice (4) Both (1) and (2)

2 mge dm FH- 27

(1) 7 (2) wHER (3) = (@) (1) W@ (2

The term vitamin was proposed by

(1) Funk (@) Fisher () Watsan (4) Shelford
by e F e
(1) & (2] T (3) aTZEd (4) =
Dark reaction takes plare in
1) Stroma (2) Grana (3) Chioroplast (4] Golgi body
<k froE g ¥

) =i (2) 13 ) TR (4] Tl A
(1

38



146. Evergreen Revolution term was coined by

(1) M. S. Swaminathan (2) B. P. Pal

(3] Norman Borlaug (4) Joginder Singh
a-wiw wifa e fam Gme

(1) e e i (2) #e flo yrH

(3) A7 Frerin (4) sifvn fie

147. BISA stands for
(1) Borlaug Institute of South Asia
(2) Borlaug Institute of Semi Arid

(3) Barley Institute of South Asia
{4) None of the above

*nﬂﬁﬂﬁnquﬁ'ﬂﬁlﬁﬁﬂ
(1) St e i aEy ofim
(2) e R A i v

3) =l w=e sifw wmy ofirg
(4) I90F ° & FE 77

148, Mass contact is communication for
T R R e ke

(1) 2-5 (2} 10-12 ~9T Tem
" 530

1152 o

PTo,



144,

150.

MANAGE is situated in

(1) Hyderabad  |2) Muradabad (3) Patna (4] Delhi
e =y fom 27
(1) ¥z (2) TEETE [3) W= (4) el

Training and Visit System was first introduced in the State of

i1} Rajasthan (2] Maharashtra

(3] Uttar Pradesh (4] Puducherry

iﬁnmﬁhmﬂ'maﬁmmﬁﬂﬁﬁmm?

WRLELIE (2) WEWE (3) 3 wEW (4) 7ga0
40
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Section—V

TV
FHYSICS and MATHEMATICS
(Physics)
151. Parsec is unit of
(1) time (2) temperature (3) distance 14) speed
THE T R
) == R @) R R (3 20 H (4) W @t

152. A vector in two dimensions has maximum number of components
fefedfy afen-ufn % vz B sfrem gen #
(1) 1 (2) 2 ) 3 (4) 4

153. A particle of mass 4 Em moving with a velocity 10 m/sec strikes partic
maaalﬁgmandnﬁckstuft,Thespeedafmemt:mia g e.f
4 gm FHHE H UF F0 10 m/sec & am & =W T UF Iy 16

Em TE %

ﬁxmﬁmmﬂﬁﬁfﬂmﬂrﬁﬂmmﬂﬂi

(I} 25 mfsec  (2) 40 mfsec  (3) 05 TS W) D mfase

154. A body in circular motion with constant speed has
(1) constant velocity

(2} no force acting on it
(3) no acceleration

{4) no work done on it in one eyele

(152) 41
P.T0)



155.

156.

157.

(152)

fer w1 @ fdt gefm o w nfeelier fdl faog

(1) %1 9 fem 2 ¢ (2) W F %= T T

(3) ® w§ o A g R (4) W uw wH § F§ w A e R
In a satellite weight of a 60 kg man is

(1] 60 kg (2) zero

(3) infinite (4) between 0 and 60 kg

60 kg T F Feft =fs w e e § wmoEm
(1) 60 kg (2) A
(3) (4) T W 60 kg * F=

A capillary with one end dipped in a liquid has same level of liquid inside and
outside it for the value of contact angle

(1) o° (2} 90° {3) obtuse angle (4) acutc angle
m#ﬁmﬁﬁ,ﬁmwﬁﬂﬁﬁ@i,ﬂmmmmmﬁﬁmﬁ
e 78 & fiAg w0 S AR g

(1) 0° (2) 90° @) afim ®m (@) FF FO

A spring stretched by 5 cm has potential energy V. If 1t is stretched by 15 cm,
then potential ERETEY 15
ey I Ecmﬁhﬁmmﬁﬁﬁ““ﬁl??lqﬁﬁ 15 cm o= W, @

ﬂﬂ@ﬁaﬁ*ﬂﬁ
V

AL
(2) 9V @3 (4] ~

(1) av 9

42
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159,

160.

161.

(152)

For a falling body of apherical shape in a liquid with terminal velocity v (r being
radius of body), which of the following is true?

(1) vr 18 constant (2) vir i_a constant
(3) wr? is constant (4) w/r® is constant

fret za o fiseht el foe &, forell B P R, v M A A M A= H B
F T B

(1) or P & (2) o/ Fom=w R (3) or? P b (4) vfr® Frams #

The mean translational kinctic energy of a perfect gas molecule at T°K is
(k being Boltzmann constant)

mmm%mqﬁmmwwKWWMEum

Faars 3)

L (4 2kT (3) %H‘ (4 KT

A drop of liquid of radius R splits up into 10° droplets of ragdi

tension of liquid is T, the encrgy needed in the iy radii 7, |f Surface
RBwm % s r B ) 10° 990 41 F o 9 3

@ b i = s wh R LR
(1) 4=R?T (2) 40R°T (3) 396rR3T (4) 99npp

The average velocity of ideal gas molecule is given by
w=H R F W s W o @

’E kT [8RT
(1) 5 12) = (3) = 4) {EE
m

43
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163.

164.

(152)

A Cnﬂmﬂt engine operating between a reservoir at temperature T and sink at
27 °C has efficiency 25%. The value of T is

(1) 127 °C (2) 127 K

(3] 400 °C (4) None of (1), (2) and (3}

T WM % ouw oEm w27 C ¥ U e % fw w0 IR WA e
& 25% Bl AN T W 9A #

(1) 127 °C 2) 127 °K

(3) 400 °C (4) (1), (2) @ (3) ® & % 4

In wave equation x = 2 -0 cos [{I' -50t + E} x is in metre unit and t in second unit.

The maximum acceleration of the medium particle is

o A x=2-ﬂcnﬁ(ﬂr5ﬂt+§Jﬁ x izt wE ¢ Ewws g B R Wem F
o iR @

(1) 0-05m/s (2 0-50m/s* (3} 2.0m/s’ (4) 2:25m [ &*

with frequency v is moving away from a stationary observer

SOUTCE of sound -
A I to velocity of sound, the frequency heard by the observer is

with a velocity equa
\ryﬁﬁﬂgﬁﬁﬁmﬁm&ﬁmﬂﬁﬁﬁnﬁﬂgmm%,mm
E;niaﬁaﬁiﬂﬁﬁ'i

y) 2v g Y
m% (@ v (3) HE

44
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166.

167.

168.

(152)

The work done on an electron revolving around nucleus in H-atom in one
complete cycle is

(1) 136 eV (2) -13-6 eV (3) 102 eV (4] zero
H-wmm) § Tifs 3 = AR R wWRE W 9w 4 e am
(1) 136 eV (2} -13-6 eV (3] 10-2 eV (4) 7=

Which one of the following is not a semiconductor?

o 2 argaws o 47
(1) GaAs (2) Si (3) Ge ) o

A piece of Cu wire of length L is drawn into a wire of length AL, The resistance of
the wire becomes

(1) one-fourth (2 four times (3] sixteen times (4) tw, times

Lﬁﬂl’f*ﬁﬁﬁ#ﬂﬂ?ﬁﬂlﬁummmhw
&1 T A Em R

M) -t ) ww B IR 4§

Molecules of a substance are [jka small tiny magnets. Th

€ Substance jg
(1) diamagnetic (2) paramagnetic
(3} ferromagnetic (#) nonmagnetic
ﬁiﬁwﬁﬁiﬁm'ﬁﬁﬂ“ﬁﬁﬂgrmﬁ?
() frgmdm @) TR (3) gy (4) srpardy

45
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169.

170,

1T1.

172.

(162}

A radivactive substance decays to one-eighth of its initial mass in 9 seconds
The half-life of the substance is

v Hedfra wd o dwvz § e gewH ® meA WM @ s d o A
qG-9 R

(1) 3 seconds [2) 72 seconds (3] 3 seconds (4} 27 seconds

Tu wunvell @ galvaiunicler into a voltmeter one needs

(1) low resistance in parallel (2] high resistance in parallel
[3) low resistance in series (4) high resistance in series
frelt Areritdiier 1 e 8 weed ¥ e aifie
kl}mﬁﬁﬂﬁﬁ‘ﬂﬂ (2) @ & ¥ wf0g

(3) Avfm i A SR (4) dofEn § 3= 09
Dimension of L/R is

(1) that of time-period (2} that of frequency

(3) that of current (4] that of voltage

LR # fn 7@ R, Bl

(1) T (2) s A (3) - i 4) foEr A

which one of the following is true?
1 same nature
(1) Heatwaves, light waves, MICTOWaves and radio waves are of

1 fure
(2) Heat waves, light waves, microwaves and sound waves arc of same na
ght waves microwaves, sound waves and radio waves are of same nature
(3) L :

Heat waves light waves, sound waves and radio waves are of same nature
[4) Hea :

46



173.

174.

(152)

e @ 3 s am 27

(1) Fam, v, @Ew, o i ao 6 oo
(2) Fon, W, AGR O SR T RO O R

(3) wFm, 7, wf w e ol f ok o R
(4 F=m, wEm, = @ e s w2

Which one of the following spectral series of H-atom lies in visible region?

(1) Brackett (2) Balmer (3) Lyman (4] Pfund

H-vomy # wwgn Afm § #9 gm wm 7 37

(1) ¥ (2) (3) = (4) 7=
In Young's double-slit interference pattern, a fringe-width is
(1) width of a dark band

(2) width of a bright band

(3) width of a bright band + width of a dark band

[4) half of the sum of widths of a bright band and a dark band
T & f-Bl wfww § v & e

(1) 7m o # Azl F oo 2
(2) vaa v el F wmmw g 2

(8) ¥ o 0 e A vt % F T A )
td!muﬁiﬂﬂwﬁaﬁm%mﬁmﬁtmmﬂ
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175. Which one of the following is true?
(1} In photoelectric effect, light behaves as a wave

|2) In photoelectric emission, there is time lag between photon incidence and
electron emission

[3) Photoelectric emission is possible with any frequency light

%) photoelectric emizgion ig pﬂ.gp.ihle with light of frequency above a certain
minimum value for a given metal

MH 4 8 84 79 o7

1) VAT TR T U F0TE SEeR w2

(2) TR TR SRR e T R I AN Ee we
(3 falt o amEf & T @ T IR BOE R

(4} e wg * for v I wF R s 3 FW A amil &
i # e ?
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176.

177.

178.

179.

(152)

(Mathematics)
In a group of 800 persons, 550 can speak Hindi and 450 can speak English. The
number of people who can speak both Hindi and English is

mwtmmﬁsﬁnmﬁ:ﬂﬁamiﬁh4maﬁnﬁﬁﬂam
ﬁmﬁnﬁﬂma‘r?ﬁﬁmﬁimﬂﬁﬂanﬁﬁ,ﬁ-ﬁ

(1) 250 (2) 200 (3] 150 (4) 100

The third term of a GP is 4. The product of its first five terms will be
ﬁmgmmimﬂamnummhﬂ#mwhﬁﬁmmﬂm
(1) 45 (2) 4° (3) 4'° (4) 25

The vertices of triangle are A (1, 1), B (4, 5), Eiﬁ.iﬂlThevalucnfcusﬂwﬁlhe
i Pl e & R A(L1), B(4,5), C16,13) ¥, W cos 4 o W Fm

61 o 63 57 50
1) — = T
W& 5 ¥l s i

——

IfA(-21), B(2 3),

Cl-2~4)are th '
is %~ #)are three points, the angle ben"’““-ﬂdandﬂc

M A(-2,1), B(23), C(-2 _4
- (-2,1) ( Iﬁﬁﬁ,ﬂﬂqmﬂﬂtﬂa-ﬂm

) m

2

-
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180. if the line passing through the points (a, 2a) and -2, 3) is perpendicular to the

181.

182.

line 4x + 3y + 5 =0, then the value of a is

18 12
3 = 4] —
R @ =

The elapes of the lines which make an angle of 45° with the line 3x-y+5=0
are

m%mﬁﬁ:wa‘lmax-yw:n%mwmmmf-.i!ﬂ'r

() -2.4 (@) 2,3 @ -2 4 (4 -2 -1

The egquation of the tangents to the ellipse 4x” + 3y* =5 which are parallel to

y=31+7 arc

ﬂﬁqﬁ413+3y3=5iﬁlﬂmiiﬁlﬁﬁl y=3x+?ﬁmmﬁ,ﬂm-ﬁﬁﬂl?
155 B 95

E1]y--=3x-t " [E}Q-E-I:I:J;
135 .

@) y=3x* T3 “‘”‘3‘*J:;

5 log, x _EH:'_,:

e
183, The value of | T dx equals
4 bog, X
- = gemwd}
jg“"“"-’ﬂmﬂ'x
2 & 5
3 X x X
5 5y g o ¥E 4) —+C
(1) pe i (2) 2""':: ( a 4] :
3
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184. If P(A)=0.7, P(B)=0-7 and P(B/A)=0-5, then P(A/B) equals
AR P(A)=0-7, P(B)=0-7 3 P(B/A)=0-5, @ P(A/B} ¥ 7R

3 i § %) ﬁ
(1) 13 2) 14 (3) Y i E
185. If
T
1 X x+1 |
fix)= 2x x[x=1) f2+1)x
Sxfx-1) x(x-1)(x-2) (x+1)x{x-1)
then f{100) equals
@ £{100) = 79 B
(1) 0 (2) 1 (3) 100 ) -10g
a4 b ¢
186. [f matrix A = z ; : and A% = |, where a, b, ¢ are Positive ., Mumbers such
that abc =1, then a® + b* 4 o2 equals
a b ¢
A=|b 2 _
I AR c ; : 4 1, L ﬂ}ﬂ,b}ﬂ_:hﬂ;ﬂbf:j ﬂ’ A
a’+ b+ ¢ W ww gy
(1} 1 {2) 2 (3) 3 @) 4
{152) al

(P.T.0,



187, If

a l-cos4
s X
Jflx)= e » x<0
X
= a Cx=0

= g - x>0
Jlﬁhl'}—q

then for what value of a will f{x) be continuous at x=07

ﬁ’iu%ﬁﬂﬂﬂﬁimﬂr]ﬁ%x=ﬂﬂmﬁm?

{1) 8 (2) & (3] 4 (4) 2
188. If
x? sinx cosx
flx)={6 -1 0
p p? P

ol 1 e
where P 15 @ constant, the value uf—-dr—a- at x 1

() P (2) P+P?
3 (4) independent of P
(3) P+F
" ¥’ sinx cosx
flx)=| 6 = 0
p P P

4
w7 i foi &, W x=0 R LK
(2) P+P? (3) P+P° 4) P8 =09
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189,

190.

191.

(152)

If the normal to the curve y = f | x) at[Eﬁlmakcaananglc%wiﬂl the +ve
x-axis, then the value of f'(3) will be

AT oy =f(x) % B (3 4) W e wmws - 6 %“ﬂﬁrﬂrm
¢ @ £(3) F w &m

(1) -1 2 1 (3) -2 4 4

If the diagonals of a parallel :
ogram PERS arc along the Unes x +3y =
6x -2y =7, then PORS will be a : SH=I A

|1} rectangle (2) square

(3) eyclic quadrilateral (4} rhombus

UF WAR WgME PORS & -

ﬁmﬂ gia Tt x+3y_¢3ﬁ’{ﬁx—zy=7‘q‘{g_ Ei"rp@gs
(1) Amm ' (2) =i

(3] R s (4) " w

EI‘
[[‘—?E +B -I- E aEE El

1-x n X sz + ,ﬂqﬂnﬂn—ﬂﬁ_;mgmlm
Ei‘
——=H,4+H 2 ..
I-x ot Ox+ Bty Wt B B, , = wm gy

1 1 1
1y - 51 e e .
”n 2) 3) nl

(n-1p
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192,

193.

194.

(152}

ﬁf_! is vertical pole. The end A is on the level ground, C is the middle point of AB.
15 a point on the level ground. The portion CF subtends an angle i at P. If
AP = x AB, then which of the statements is correct?

AB TR SN wwW 3 e A fo wwm e w @ s aB w1 owefag c #
ﬁﬁpmﬁtﬂﬂﬂﬂ!%ﬁTﬂWEBﬁﬂFmﬂmm%hﬂﬁﬂP=xﬁEE,
M wiA-H e Gl BT

(1] simnfl = g

2x+ 1 (2] cosh 2x? +1
3 ta . 4 e W
3 nf Dt 41 ¢ ooAp 20 +1

P(x y), F(3 0}, F;(-30) are three points. If x and y satisfy the relation
16x? + 25y =400, then PF, + FF, equals

P(x y), Fil3,0), Fa(-3,0) flaowm frg B AR ox Wy # wmy
16,1 + 25y% =400 o 8, M PR, + PR, ¥1 57 Ll

(1) 8 (2) & (3) 10 (4) 12

Suppose a. b, c are in AP and al b?,¢c? arein GP. fa>b>canda+bre=3,

then the value of a is

s fF a, b, ¢ FAER soh # 8 sl o2, b?, ¢ e AR E) AR a>b>ec

asbh+c=% T a F 9H B
1442 2 -1
1) —¢ (2] ﬁg‘ 13) _2_ (4] -- 2
243 23

o4



. . =334
195, Ifi-u"—_l,ﬂ]m4+5[—%+ii—ﬁ} +3 [-E —t%t} equals

196,

197,

198,

(152)

AR i =1, 4+5[-§+1£] +a[-.i. E]ﬁ ¥ AE g

(1) 1-if3 (2) ~1+i3 @ i3 4 -if3

I fix)=x%+2he + 207 and  g(x)=-x? -2cx+ p? are  such that
minima f(x)> maxima g(x), then the relatign between b and ¢ is

(1) bee (@) 0<e<bv@  (3) |e|<|b|4a 4) lcl>|b|42

The value of Jj 1 2? ) | R
b M T 1*'“—;' l+—3']'-~(1+n~?ﬂ 18 equal tgo

lim [[H%}[HE;J"-[“E;H”H W WH g

{1} Median + Mean - 2 Mode 2) Median - Mz
{Ei SME-H..I.'I—E Hfd[ﬂJI:M‘ﬂde “Jamedl-ﬂﬂ_zmtan



199.

fr & & o T 7

(1) W= + o = 2 JEe (2) AifEER — WS = WEEE

(3) 3 me — 2 wieE = JEES @) 3 miegR — 2 9 = "

ix(@xi)+ Jxlax j‘:+

I-E[E:-cfi+_?u[ﬁ'xj]+

(1) 2a (2]

The equation of the cu

;:ml_ﬁx;:] is equal to

ix{ﬁxi]ﬁﬂﬁ%

aa (3 0 4] @

——
rve satisfying the equation {1+ y ydx o+ x- g ¥ydy=0

and passing through the point (0,0) is
g (147 de+ (x- &= ¥)dy =0 A T WG AW e T

ook W
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srfgdl % feg fiw

[mqfﬁma‘ﬁnmrw-wmamm—wtﬁqﬂmmﬁﬁrmmﬁm-mﬁﬁqﬁ#fﬁﬁ}

10.

11.

12.

13.

14.

Wgﬁﬁﬁﬁﬁﬁimﬁmﬁmﬂtﬁﬁﬂﬁwﬁﬁﬁﬁgmﬂfﬁ#im
qaqﬁ_i-gﬁmﬂﬁﬁmﬂaﬁmmﬁmmwrﬁﬂﬁaﬁmqqﬂm#
g 1t wm = A
qﬁmmﬁﬁmﬂhﬂa—wﬁmﬁﬁmmmmﬁtﬁmmmﬂﬂqﬂm

m-namﬁﬁ:mwﬁlm#m#aﬂr?ﬂﬁwmwm-nqﬂﬂmmmm—
vy ® fF qewwT few wwm

Mﬂjﬁmﬁﬂmm—ﬁwmnwm-wwhﬁ Pt =am e sl

mmﬂi!mgmmﬂmwﬁdﬁnmmﬁﬂﬁmﬁﬁﬁﬂmﬁix
Hﬂ-ﬁmﬁmm-q&mnmmﬂzmmmmmmﬂl

o THo ameﬂm.ﬂﬁquﬁm,m-*{ﬁ?ﬁﬂmilmﬁﬂr{ﬂﬁﬂﬁﬁﬁﬁmﬂﬂ-gﬁﬂm
FEAE He HE Ao THo maqﬁ#aﬁmﬁﬂ-ﬂﬁﬁﬂﬂaﬁwﬁtﬁtl

Hﬁ-gﬁﬁmiuﬁﬁmﬁiﬁﬂﬁ?ﬁmmﬂtumﬂEm#mmkﬁﬂmm—
wﬁmﬁmﬂr#mﬁﬁ#ﬂ#qﬁw}m-wtmg!wﬁﬂﬁﬁﬁ*mh#mﬂ
w=

mﬁ.ifﬁqﬂmmﬁmsﬁmﬁﬂmwﬁmmflwﬁﬂmhﬁmﬂm?ﬂﬂwaﬂ
!ﬁmﬁﬁﬂﬁﬁﬂimﬂﬁﬁnﬁmaﬁﬁﬁﬁﬂﬂﬁl@nﬁﬁﬁmﬁmwﬁm

i & W A degHede SH-TF T p— A



